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fawg : IO
70-5 = 65, 125-8 = 117 HCF (65,117)= 13 Iyar 3
b2dac =21 > 0 3rerar ‘:b=3
k = -10 Yar X?+5x+6 = 0
3ET T ADEF~AQRP — £ = FE

OR RP
’
mpR?/360°
b = +54
T 3roraT a _b_c a_b

A B CBﬂTAiB
. . . a _ EZ c
WY AR E = + = = # o
a1g=0
’
OP = 2r
k = -1
1:1:2
ged T aRM = dR &1 oFaS = 44 G
g 3rqar g Aehdr = 1/6

(i) b) x-2 (i) d) 60 m* (i) d) 104 m®> (iv) b) ¥ 2600  (v) c) 60000 <hex
(i) b) 160 A= (i) c) 155.83 Q= (iii) c) 155 @A (iv) a) 155.25 @AY
(v) a) 155.625 @Y

(i) b) 16,200 m? (i) a) 16,200 m2 (i) d) 69,336m? (iv) b) 180(2+3vZ) m

(v) ¢) 1080(2+3vZ) ¥

(i) ¢) 0.50 (i) b) 0.45 (iii) @) 0.05 (v) d) 015  (v) (d) 0.45
e T

8 QAT [Hehcl: §3 Food T SiiaT BIC Fod T TN § ]

tan A = sec?A- 1;cosA=$; SinA = \/? ;c:otA:\/se(;ﬁ : cosec A = 82222_1
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AYar T
3T gAToT IYar LCM(40,42,45) = 2520 Hr




25. quiieh = 8, 9
26. fashul AC & #Heg-faig & fadens = faol BD & #eg-fNg & fadeis
27. HCF(90,240,336) = 6
28. AT = 2.56
29. AACB~ACDB=>DB=?3¢\TAACB~AADC=>AD=?
DB+ AD =c = pc = ab areqar e FUA ; x = 2 (Yo 7T & gIT @)
30. EATE : AT @A § : D=b’4ac =0 =p =+ 8
AT & AT = 4, 4, 4, 4
31. PQ = PR = 12 @1 , Iqelel & &%l = 60 T JAT
32. 3fad w#AOT
33. 3fAa yATOT 3ryar
D& E ¥ 3R O F C & Fasw | 31§ ADOA = ACOA TUT AEOB = ACOB
31d: «DOA = «COA <EOB = 2COB
F3ifeh DE Jod T <O19 g, 3d: DE U @M &
3Ida: «DOA ++COA + «EOB + «COB = 180°
= 2(«COA + 2COB) = 180° = <AOB = 90°

34, o 1 Fur$ = 20 -7= 13 A 7 |
BN FT Fol HIT = &Y HeNell T AT + JoTeT HT ITAAT R
= 680.16 &l W
3rerar

U1 2aRT fATATfad il r AT = S HT el AT
1 1 1

= = r’h + = ir*H = = mr? (h+H)
3 3 3

35. AB W fig C 38 YR ofifed & XYCA T 3mad ¢ |
IFa: AC = XY =40 3 AX =CY
ABCY # tan 45°=%=> BC = CY

BC+40 40
=

ABAX # tan 60° = BC = A1

AB= (6+2V3) #r

ABAX # sin 60° = - = XB = 4(V3+1) #

36. #HAET gd eOF = x
gfafest #elet &1 Hed = y
Farfa & fow: x+20y = 3000 AT & foT: x+25y = 3500
HT: ad =@ x = 1000 ¥ ; GidfeeT #fielel & Hed y = 100 T



